[€ 31] &3 /AXNZ(EF FL)

33012 CAl BF

ANZHHA tHatA=S XA E




&82] 53 Z1

-

=3 21
3=t

SELAX SFA2HE) 22 (4/min) [91Z: 0.017H/cr]
SXNBAH A 13:50 ~ 16:20 10.00 A E[HE3H 0.0020]2H]
SXNFAHA2 13:52 ~ 16:22 10.00 SHUE[AE3H 0.0020]2H]
SXNBAHAS 13:54 ~ 16:24 10.00 EAE[HE38H 0.0020]2H]
SXNBAH&4 13:56 ~ 16:26 10.00 EAdZE(HZE8H 0.0020]0H]
P ML H| 14:00 ~  14:40 10.00 =AE[A =3 0.0020]2H]
g PN 14:05 ~ 16:05 10.00 EHE[ZHE5H 0.0020(2H]
HII28E1 13:50 ~  14:30 10.00 =AE[HE35H 0.0020]2H]
HOISE=E312 | 14:35 ~ 1515 10.00 EHE[AHZE8 0.0020/8H]
HII28&2323 | 15220 ~ 16:00 10.00 =SAE[HE5H 0.0020(2H]
10| HIISEEP4 | 1545 ~  16:25 10.00 EHE[AZE8H 0.0020/%H]

[ H ]




g &3] &3 A&

=& A&

H&4

Sy T/

8. HIISHE2

7. HOISEHE T

9. HJI2E=33 10. HIIZgE74 | : = 2




(g &1] 53 AXNZ=(ZF =)

: B31300|12 CAl 2H :
Bl sl e Db Bt e e s e e

A EHF CHat SXNZAH




02

S & (2/min)

S3st

[J1F: 0.0104/cn]

9:15

11:35

10.00

=AdE[HAE6H 0.0020]2H]

9:17

11:37

10.00

EHE[HE8H 0.0020]04]

9:18

11:38

10.00

=dE[H £ 0.0020]2H]

9:20

11:40

10.00

rlHE

AE[HAEEH 0.0020]2H]

9:30

10:10

10.00

m||I

HAE[ZHE35H 0.0020(0¢]

9:25

11:25

10.00

II

dZ&[dZ87 0.0020]2H]

9:25

10:05

10.00

=dZE[HAZEEH 0.0020]2H]

10:10

10:50

10.00

=dZ(dZ8H 0.0020]2H]

11:00

11:40

10.00

=HE[HE8H 0.0020]8H]

[ H D

]




[ &3] &3 A&

8. Holgmzm2

7. HOI29E1

9. HIIBHET3 : - ‘ % e




